Name: Date:

Instructions:

Calculate answers to the equations below. Put the letter with each
equation, in the box with it’s matching answer, to reveal the riddles
answer!

What's a vampire's favorite sport?

T N M
5+ 4= 2+3= 5+1=

3+5= 2+ 1= 5+2=
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Instructions:

Calculate answers to the equations below. Put the letter with each
equation, in the box with it’s matching answer, to reveal the
riddles answer!

Y

What is evil, ugly and bounces?
T P A

1+9=

1+1=

4+ 7=

8+1=

0+7=

[+11=

10+5=

A Witchon a ...

3+10=

2+ 12 =

6+2=

10 | 15

13

11

18 | 8

14
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Instructions:

Calculate answers to the equations below. Put the letter
with each equation, in the box with it’s matching answer,

A to reveal the riddles answer!
Why did the ghost go to the funfair?
T E S
3+ 10 = 0+7= 3+9=
H L R
1+1= [+ 3= 2+ 12 =
O R G
4+2= 10+5= 3+1=
L R O
8+1= 3+9= 4+1=
He wanted to goon a ...
12|16 19|10 7 (14 /4 11 113 7 |15
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Instructions:

Calculate answers to the equations below. Put the letter
with each equation, in the box with it’s matching answer,
to reveal the riddles answer!

Why didn’t the Skeleton go to the party?
B G T

4-3 = 6+2=

w
+

00
[

I
I
+
w
I
©
+
W
I

1+8

He had ___with!

12 19 11 7 |43 8 | 14 115
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Addition Square

0/1/2, 3/ 4|5|6|78]9 1011|112
11234, 5|6|7]8|910/11|12 |13
213|456 ,7]8]9]10/11/12|13|14
314|567 ,8]9/|10/11|12/13|14|15
4 15,6 |7]8]9(10/11|12|13|14|15|16
5/6|7]8|9/10/11|12/13|14 |15 /16|17
67|89 (10/11/12|13|14|15/16 /17|18
/18]19]10(11/12/13|14/15|16|17 /18|19
81 9(10/11|12 /1314|1516 |17/18|19|20
9110111213 /14/15|16|17|18 |19 20|21
101111213 /1415|1617 |18 /19|20|21 |22
1111211314 /1516|1718 |19 20|21 |22 |23
1211314 /15/16|17 18|19 |20 21|22 |23 |24
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